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PART A

Choose the verb for the space to express the given meaning: 
You

1.

type ten pages in two hours, (ability)

(B) may 

(D) would

can

(C) must

Choose the best option for changing the following into indirect speech: 
“Do you know why he is sad?”
She asked me whether

2.

(A) I know why he is sad 

I knew why he

(B) You know why he was sad 

(D) Did I know why he was sadwas sad

Read the following and pick the best question form from the options : 
The guests may arrive now.

(A) May the guests arrive now?

(B) Will the guests arrive now?

Are the guests likely to

(D) Will the guests not arrive now?

3.

arrive now?

Choose the correct grammatical label for the word ‘ inhuman’:
(A^ adjective 

(C) verb

4.

(B) noun 

(D) prefix

Pick the appropriate phrase for the space in the sentence: 
There are a few benches

5.
the hall.

in front of 

(C) along with

(B) by the side of 

(D) apart from
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Pick a more suitable word from the options for the word in italics: 
He damaged his foot.

6.

injured 

(C) lamed

(B) harmed 

(D) crippled

From the given options, choose the one that is nearest in meaning to the given 
word.
Hinder

7.

<b/i
Impede 

(D) Control

(A) Help 

(C) Bother

From the given options, choose the one that is farthest in meaning to the given 
word.
Discrete

8.

(A) Shrewd 

(C) Unkempt

(B) Stupid

Composure

A related word is given. Now from the given options, choose the word(s) the 
best completes the relationship similar to that in the given pair
e.g: Fox: Cunning.---------------------------:----------------------------

9.

(A) Bus: School (B) Tool: Dentist 

(D) Class: Students(C^ Taj Mahal: Beautiful

Out of the four alternatives, choose the one that can be substituted for the 
given words/phrase.
A speech delivered without any preparation

10.

(B/l(A) Straightforward 

(C) Verbose

Extempore

(D) Maiden
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Some parts of the sentence have been jumbled up. Rearrange these parts 
which are labeled P, Q, R and S to form a sentence. Choose the proper 
sequence.
I believe that
Tendulkar’s century will always remember cricket lovers on Tuesday.

11.

P Q R S

The proper sequence should be:

(3/1RQPS 

(D) PRQS

(A) SRQP 

(C) PSRQ

Fill in the blank from the given options. 
I called the company to

12.
------ why it denied me credit.

(B) persecute 

(D) search

(A) trace

(C/ ascertain

Fill in the blank from the given options
eating the food.

13.
He

(b/relished 

(D) rejoiced

(A) realised

(C) rebelled

14. Fill in the blank with suitable preposition. 
We discussed the economic crisis.

(B) at
(D^No preposition

(A) about 

(C) on

15. Fill in the blank with suitable adjective.
than I am.He is

mlolder(A) elder 

(C) eldest (D) oldest
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. 16. Choose the best word for the space in the sentence:

that his legs would not support him.He felt
(B^certain 

(D) certainly

(A) sure

(C) doubtless

17. Pick the comparative degree of ‘kind’:

(B) kindlier 

kinder

(A) kindly

(C) more kind

Choose the correction for the word in italics: 

As the train left we managed to get into it.

18.

(A) had left 

(C^ was leaving

(B) has left

(D) would leave

Choose the word that would replace the words in italics: 

The police will catch those who ran away.
19.

(Bj/
(A) disappeared 

(C) left

absconded

(D) departed

Say which option is correct for the word ‘people’:20.

(A) It has no plural form

(C) It is both singular and plural

(B) It is singular

It is a plural only word
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Identify the word or name before which ‘the’ is not used:21.

(A) USA (B) Sun

<n/(C) Ramayana Everest

Choose the word or phrase that will replace the words in italics: 
History praises those who love their country.

22.

(A^
(B) freedom-fighters 

(D) social workers

patriots 

(C) soldiers

Pick the best meaning of the word ‘wither’:

to become dry 

(C) to grow small

23.

(B) to shrink 

(D) to die

24. Pick the right word from the options for the space in the sentence: 

I was angry the results.
(^/at 

(D) about

(A) with 

(C) for

Pick the sentence that puts the word “formally” in the right place25.
(A^^He went up to the table and formally spoke to the Manager

(B) He formally went up to the table and spoke to the Manager

(C) He went formally up to the table and spoke to the Manager

(D) He went up to the table and spoke to the Manager formally
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Answer the questions on adverb.
The sentence, ‘He works hardly’ means

26.

(B) He works hard(A) He works very hard 

(C) He works always (d/He does not work

Pick the correct passive voice sentence for the following: 
Please bring a pair of pencils.

(A) You are instructed to bring a pair of pencils

(B) You are ordered to bring a pair of pencils 

You are requested to bring a pair of pencils

(D) You are expected to bring a pair of pencils

27.

(CJ

‘Nourish’ means28.
(B^to give food 

(D) to make healthier

(A) to make rich 

(C) to make strong

Which word describes something different from others?29.
(Aj/ position (B) dock 

(D) flower(C) bed

Choose the best question form for the following sentence: 
He might include the second name in the list.

30.

(A) Might he include the second name in the list? 

(B^ Is he likely to include the second

(C) Might he not include the second name in the list?

(D) Will he include the second name in the list?

name in the list?
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Out of the four alternatives, choose the one that can be substituted for the 
given words/phrase.
A place that provides refuge
(A)^ Asylum 

(C) Shelter

31.

(B) Sanatorium 

(D) Orphanage

A set of four words are given, marked A, B, C and D, spelt in four different 
ways. Choose the correct spelling.

32.

(aJ favourite (B) favourit 

(D) favorite(C) favoarite

A sentence has been divided into three parts. Select the one that contains an 
error. If the sentence contains no error, mark (D) as the answer.

33.

(A) either my sisters 

(C/ are coming today
(B) or my brother 

(D) no error

Answer the following with suitable question tag. 
Ravi played hockey,

34.

(pj<.didn’t he?(A) did he? 

(C) does he? (D) doesn’t he?

35. Answer the following with suitable question tag 

They are laughing,

(Aj (B) are they? 

(D) don’t they?

aren’t they?

(C) do they?
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PART B

aifWd) ^leo-s^liu^eb L|a;ipQufi)fDGiJ(T36.

Q(A) L|§l(S5)LDLSl^^afT 

(C) QgDUJ<$rnB<£dsT

ij rr ^ it 17 rr uj sbot 68T

(D) eunffib^l

urrio55Tii)-UJio5TU(fl* OTepii (^pti) arrcfiliu^a)^ uciol^suit37.

(A) umj^liumr 

(C) «®k6S5r<£rrff«rr (D) surresisfl^rrffeffT

38. <^lr51««61J<5LbuiT OT65T UrTIJITL_l_UU@U0LllT
^l0LLl£)-685rLJl51(STT6®)(STT^^^

(B) aSlJLDrT(Lp«sfliSUIT 

(D) 6USDlbL|[flgQrT65T(C) Gurru

39. ^uSl^rnu currip^gj ^H-ihQufDjD pjeb OT§i?

(A) urr^^rrisiSlffu^Lb

(C) ^lijrTaj(o55r<5rTa51ujLi)

(B) ^L61ip<g:#lu51<5i5T<s^

LD<3ei5TrTdn'LD605fluJlh

2_cu«^Gco(cUj ^uSlLpOLDn-ySlaarra s_o)<s LorriBnr© i5i_^uj (ip^eb rsrr©40.
/0 (B) <5 mu so rnbg] 

(D)

LoGeo^liurr •

(C) ^iB^iurr
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41. fan'll©UU655T gDio5T<$ioffTLD«rr UrTU^J«(5 (!B[TLlU|.UJIjb (ip^iob Quern

(A) <oS)euQ^uj|B^lLDn'eon' (B) u^uSlisofl
urrcOffijGTUQj^l^^^^

(D) G^rruesirr

<smlk)_ioirT 6iictT^erj^<s efileorij^42.

(A) s;^

® HzSwS
(B) ^IrBJ-SLD

(D) LurrewecT

43. ^j,eff)055r LD6®cuLju@^lu51cb GurripucuiTaeTr
/

(B) G^m_iT«crr 

(D) ^l0£rT[T<S(STT

arTLiraen

(C) U@<SIT<S(oTT

^rr®Lb GlLDrTL^lu_|ijb ^0 <se05r<seTT otsot® a«.r51uj6uiT44.

(A) aoSlLDSiscfl G<93<#1<$ aSltBrnuaib LSleTTeiDiod

LD<srrffiaSlurTij^liLimT^^^

(C) su.2_. ^l^ijbuijioiJTrTfr

(D) ^Iijit.lSI. GffgjuLSlsTTioSxsTr

gLbQu0fid<SITLJl51uJfijffi£Tflcb ^LLbQupUSiDSU45.
#(5U<s41l5^rTLDS5i5fl'^^^

(A) i§isdG!<5<#I

(D) ^iGiuftarroSliuLb(C) LD^rrurrij^Lb
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#1a)uu^l«rrrr^^lsb ^iLiiGlurDp ^leurideiD® ldototisot46.

(B) oSijGasffffiaijjsijrr^

(C) ©Sl-s^lijiDurreodn' (D) i_|0S]G«<£]

47. ^u51^ Q^dyrnisb OT65TLJ umjrrLl.L_u GlupueutT

(A) aj.ftu. LonressflaffiLb (B) IjrT.lS. (S^pUL^IeTTiSiDiolT

(C) (ip. euij^ijn^iSOT

48. rf3l<$655T(5) OTSCTUp

(A) LB0^§jeupT'sb 

(C) ^IfbUffn^lJLD

(B) G^rr^lLpreb

Qa:rTfT)<serT(0#1ujLjb

49. ^l0yr65TrrmrTrbu^lOTT^j,<#liflujiT

^LSleofr (B) aSlOTLbiSljBrraiSffTrm

(C) jBuy,^«rrrrfr (D) ^OTCE^iB^eerniT

50. <^lLp«<^lsiSl0i5§j isS(SLb .srifD^iSOT Quujit

(A) (B) G«msiOL_QJITiSiDL

© Q<5rTe5DTl_ (D) Q^siyinieb
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PART C

Which of the following software is not a web server

(A) Apache

(B) Internet Information service (IIS)

(C) Mongoose 
Python\/^

51.

^LpaewsTLeijfbnSlh) QinshGlu^Gir ajaoso GffeoeaujffiLb (web server) ^Icbeoeo

(A)

(B) (§l6!D65trriU ^cSSUSb GffGOQJ

(C) LDrBJ5«.SrU

(D) CT) Listen

Which among the following is not a social media52.

(A) Facebook

(B) Twitter

(C) Linkedln
^5) EDX^

^LpaeBBri—GiJfbjSleb ot§j 2OTi_<sLb ^lebeoeo

(A) (papyeb (Gugtul]<s)

(B) LlaSlili_iT

(C) eSlrejaiLisirr

(D) U|.OT<sGru
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Who appoints the Chief Justice and Other Judges of the Supreme Court 
of India?

53.

(A) Prime Minister of India

(B) Parliamentary Joint Committee

(C) Ministry of Law and Justice 

President of India^^

^iib^Ioj .gistnsD&DLD iS^lu^l LDfopii) jS^Ildostid jS^lu^lfteoeTT ujrrfr

iflajL61«« GeuarorClib?

(A) @[5^1 LUU L^llJ^lD LD|B^l(fl

(B) U[TI7IT^L£6BTfDg}£§ldsT 5«.L(5l'S 0(Lg

(C) ffllLLD LDrbpLD jS^l^§J(S5)fD ^eOLDfFffcKLb

(D) ^ewcueuir

Green Revolution in India is also known as54.

(A) Seed, Fertilizer and irrigation revolution 

Agricultural Revolutions^

(C) Food Security Revolution

(D) Multi Crop Revolution

^liB^liLirraSlioflT u<sct)ldlj OTshp c5Har>Lp<s<suu®€u§i

(A) 2_ijib, LDropib urr^esTU LjijL^I

(B) QSleaffmiJLJ i_|ijl_#I

(C) 2_655TSI| UrTp«rTULjU L|IJL<^

(D) USbuiiSllT LjlJL-cfl
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A town’s population increased by 1,500 people, and then this new population 
decreased by 12%. The town now had 60 less people than it did before the 
1,500 increase. What is the original population of the town?

(A) 13,000
® 11,500*/
(C) 11,440
(D) 10,000

55.

6^0 ld,£<$stt Q<£ms5)<s 1,500 LSldnOTiii i_|^1lu LD-sasir Q^rreina;

12% 0O)n)|B^§j. 1500 LDcsaserr Gl^rrisoffi <3«.(5l£ij^rf)0 (tpehOTii q51l_ ^pGungj
60 Guir 0e5)fDGLirr<5 ^l0«^lfDniT<5£TT. ld«<sctt Q^rren<5

OTOjeuerreij?

(A) 13,000
(B) 11,500
(C) 11,440
(D) 10,000

In a community 28 percent speak Tamil, 7 percent speak Telugu, and 
5 percent speak both Tamil and Telugu. What percent of this community 
neither speak Tamil nor Telugu?

(A) 30 percent
(B) 70 percenH^^

(C) 60 percent
(D) 95 percent

56.

6^0 <9F(Lp^mij^Q) 28% ^uSlip GusiLb La<s<5(Gr5Lb 7% Q^^jttd0 Guard) LD<$«(GnjLb LnrbpLD 5% 
jSiiSly) LorDpib Q^^jr&j0 Guavi_b LDrsa^ib ^0«^lprTit<serT. ^uSlGLprr G)<$g>jrijGa;rT

Gua1^ LDffiffiafleh a:^e)Sl<^l^Lb otsIislicttsli?

(A) 30 a^eM^LD

(B) 70
(C) 60 a^oSl^d)

(D) 95 a^eMjgLD
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57. Train A traveling at 60 km/hr leaves Mumbai for Delhi at 6 P.M.

Train B traveling at 90 km/hr also leaves Mumbai for Delhi at 9 P.M.

Train C leaves Delhi for Mumbai at 9 P.M.

If all three trains meet at the same time between Mumbai and Delhi, what is 

the speed of Train C if the distance between Delhi and Mumbai is 1260 kms?

(B) 90 km/hr 

(D) 135 km/hr

(A) 60 km/hr

(C) 120 km/hi\/

LD65efl<g;(5 60 <£IlS Gqj<s^^1q) GWebgjjLb A OTdrrjD 6^0 Ljeo-sGuewjru)- (LpLbeiDuuSleiSl0iB§i
QL_isboSl(ffi0i_b LDrrsoa) 6 LD65!5fl<s0<s ^Icrnbq^ljDgj

LD«®fl<K0 90 <£).l§ Gsaa^eb B CTehni <^0 Ljeoasojcouii)- (ipLbisouuSlsiSl0(5§i
Qi_cbeiSl<50Lb 9.00 LDissd:l<s0 ^crribLi^lrDg]

C CTsirrn) L|0D<5G)J655Tin- QL_cbeiSlu51aSl0j5§j (Lpibe5)ua;0 9-00 LD«s5fl<s0 ^lcTTLbL|^l[D§i.

Qi_cbsiSl«0ijb (LpLbioff)u<50Lb 2_6tt<stt gjiijii) 1260 (rpdrrp (Lpibeou
LDjppib GlL_6be61<50 ^IcolGlu ffij^l^rreb C OTehni euessTU^uSlsh Gajasib
CTeilQJCTTSI|?

(A) 60 ^liS/LDasdl

(C) 120 ^liS/ineisdl

(B) 90 <£lL§/LD«S5fl

(D) 135 ^llS/LDQScfl

The gas usually filled in electric bulb58.
Nitrogen%^^

(A) Hydrogen 

(C) Oxygen
0

(D) Carbon dioxide

uSlsh uebi51d) ^lijuuuu(5Ub cumL| ot§j?

(A) 6iDafl)lllJgD6«T

(C)

(B) aoiBLij^dn'

(D) «mTU65T (S!DL_^{,<5iSiD(Sa)L_
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Curd is sour due to the presence of

(A) acetic acid

(B) tartaric acid * 

lactic acid^^

(D) oxalic acid

59.

-SuSlfr OTS365T sirrreflnLDrr® LierfluLiiT®

(A) ^uSleuih

(B) i_rriTL_rrirl<s ^uSleoii)

(C) Geoaii).® ^uSleoib

(D) ^.ssTurreSl® ^uSlcuib

60. Which unit is not related to temperature? 

(A) Fahrenheit 

Joule

(B) Kelvin 

(D) Celsius©
Qeauu^giLish ffLbujB^uuLrr^ ^0)0 ot§j?

(A) Guijoto^lI (B) GlasbefilAr 

(D) Qffhi^lujerD(C)

Which gas is used in fire extinguisher?
Carbon dioxide*/

(C) Helium

61.

(B) Magnesium 

(D) Nitrogen

JiwisoeouLJumsofld) uuj6bu($)s}a}uu(5lLb qjitlli ct§j?

(A) amruAr (B) QiDae^f^lujLb

(D) 6imT)L_IJgQ0ST(C) s^eiSliLiib
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Bhopal gas tragedy, which is considered to be one of the world’s worst 

industrial disasters caused due to leakage of which of the below mentioned 

gas?

62.

iQ Methyl isocyanat 

(C) Carbon monoxide

(B) Potassium ferricyanide 

(D) Hydrogen cyanide

2_£D(£]d)T uSlffiuGluffluj Q^rrySlrbffrnotDioD CoUijl^Isci CTdmp <$0S3uu(5)Lb (Surrurrd) efllo^eumLi 
ffLoueu^^leb ^LpaemLearb^d) <5<fl(ajrre5T sarriLi &rgj?

(A) Qin^^leb (B) GlunL-i—rr^limb QuiriflsoffiLisineBTCi 

(D) soarDLij^eh eo^ujgiDeiJT®(C) arrirudji GLDUOTTrrasoffCl

The reason being emergency holidays are declared by the Government under 

Negotiable Instruments Act

Negotiable Instruments maturing on the date of emergency holiday 
should be paid on the next day\^

(B) Interest due need not be paid for the holidays declared by Government

(C) Banks need not function in view of leave declared under Negotiable 

Instruments Act

(D) Stock Exchange will not function in view of leave declared under 

Negotiable Instruments Act

63.

ffirnso ©^©(Lpeoroffiisocfi ^ij<k LDrrrr)p(LpaDfD ^eussmbfilLLb <£ip 6iSl(b<ai<95rr.$ 

cSHffjlG&luu.sdjT asnijssmb?

(Srreo (ipff)[tqjsoi_llilo LDrTrbpdpeori) ^,<5iJ6B5rrBJ<5(GT5<s0
6iSlG(Lp«i)fpa;0 LDpfBderr uecsrib Qff^j^uui— GQjiStroT@Lb

(B) cSdeu 6i51G(ipe!DrD Cs^iudsTp G^coemiSlisbeoeo

(C) eurij^ujiT LDrrfi)p(ipiS5)fD ^saesncF ffLLUui^. a51G(ip(snnD G^iuehp Gsaeoeo
GlffiLiuj^ G^sosmi^lcbeoeo

(D) Larrrbp (Lpeop ^ciiascr ffLL^eh^Lp 6filG(LpaDfD ^5Hf51ei51uLj G^iushp 

CsaeiDeD CffLuiun-p

(A)
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64. Which major country does not have a written constitution?

(A) Russia

(B) Iran

(C) Germany
United Kingdom%^^

OTiBcgu Qurfluj OT(Lp^uuLli_ ^ij#luj<sb ^eoLDULjff ^llld ^(sbeoso?

(A) ije^ujiT

(B) FFIJfTGftT

(C) Q^ITLDshl

(D) iLieosnQLil ^[bjlld

The term ‘We’ in preamble of the Constitution of India means65.

(A) Indian Government

(B) Supreme Court

(C) Indian Parliament 

1^^ The People of India\^^

Jglpjifluj ^ij^luJcosoLDUiSldyT (LpdsTgueiDijLiSIcb "jBfTLb" OTshp 0n51uL5lLU|.0uu^«yT Qun-0crr?

(A) ^ijffrrrii.sLb

S-ffffiS^liJDdrTrDii)(B)

(C) urrijrTicTTjLDdmDLb

(D) ^15^ in ldAsot
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66. Who gave the slogan "Jai hind" to the nation?

(A) Rajendra Prasad

(B) Rabindranath Tagore

(C) Bhagat Singh

Netaji Subhash Chandra Bose

i5rTuii)-iT)<50 QgQUJQ/pisg] OTarro) ^^eufr

(A) ijrrCjjDiB^ijLJ

(B) ijdis^lijisrT^ ^rra«i.iT

(C) u«s^lr£j

(D) GjB^rr^l <Kurrc% ffis^lijGurrdu

Who is a 'Notary Public'?67.

(A) Advocate

(B) A person well noted by the public 
f) An official having authority to certify deeds%^^

(D) Attorney

GiBfuli—iflu uusifl-s OTshueufr Lunir?

(A) aJLp<S0S5)fD(0[T

(B) Qurrgi LD<s<95£rTrrd) ^rEJ<l<srrrrLb 6^0 |buit

(C) ^goeccrrEjasaDeTT ffprshperfl®® a_[flg5)ia Qurbp

(D) ^L_i_nii«sfl
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The word — 

ramifications
68. refers to an age related status that has legal

(A) child 

(C) infant

(B) senior citizen
juvenile^^^

ffilLib ffnrrtBS) smug! Q^[ti_itl|Soi_uj sarnr^o)^ ot§j?

(A) @LpiB<S!D<£ (B) (Lp^

(D) ^lerr^^lnornT(C) #1*

The transition from child to adult involves a change in69.

(A) Status (B) Rights

0(C) Responsibilities All the above

(cfjjLprfjQDflju U0ea^^le6l0|B§j ojmsiSlu U0ea^^lii)0 LDrrgiibGurrgj g^rbu^Lb Lornbrcui) 

(A) ^0|1 (B) 2_rfls5)LD<seiT

(D) GldGcU <56550— <^«D65T^§JLb(C) <51—<6ft) LDcSGU

If Amit’s father is Billoo’s father’s only son and Billoo has neither a brother 

nor a daughter. What is the relationship between Amit and Billoo?

(B) Father - Daughter

(D) Grandfather - Grandson

70.

(A) Uncle - Nephew

0 Father - Son

<^l61^^165T £5JB6ir)33UJrT65T«JIT iSlcbglJ OT65TU6LlifliS5T ^(B«D^uSl65T LD<565T 077. L5l6bgJ6I|<50
ffChsmsijGijn LDffiCkrrn ^lisbeoeo. ^uSl^§j<50Lb i5l6bp6g<50Lb ^lanuGiij 2_6tt6tt

2_n)e7j(Lp65)rD sranm?

(B) ^|565)^ - LDcSGTT

(D) ^rr^rr-Guijeid

(A) LDmarr — ld0ld<56tt

(C) - LD<565T
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Two cars start from the opposite places of a main road, 150 km apart. First car 

runs for 25 km and takes a right turn and then runs 15 km. It then turns left 
and then runs for another 25 km and then takes the direction back to reach 

the main road. In the mean time, due to minor break down the other car has 

run only 35 km along the main road. What would be the distance between two 

cars at this poinij?

\X

71.

© (B) 75 km 

(D) 85 km

65 km

(C) 80 km

6^0 L51ij^rTS5T ffmaoeouSld) ^l(je55T® <srrfr<sGTT suflir er^lit .jflioiDffuSlaS^rfjgj 150 ^I.lS 

Q<5maD6DGfi]isiSl0iBgj ^leTTibi_|<^lfD§j (Lp^sb .suit 25 <£1.l§. Qtfdmp LSIdrrenir eusogj u<®a;i_b <£l0ii)LSl 
15 gjriJLb Qffd^rDgj. LSIdrrenfr ^[5^ asmi^lLgj ^10ldl51 25 gjiijib Qffeb^lpgj. 
LTlshesirr ^15^ arrfr ffmsineoiaDiiJ G|BrT<s^l ^l^rD<^l(5?)Lu51iob <flp ufip^leh
<5(Tijio55i'LDrT<5 LDfT)Qn)(T0 sfrii iTlij^rrsffT ffpreoeouSleb 35 ^I.lS. gjiijih ojotij Qffehpgj. ^rr)Gurr§j

ffirriT«(Gr5<5<^lc5)i_Giu &_GTrcrr prijib OTOjeaemai?

(B) 75^1.i5 

(D) 85 <£1.lS

(A) 65 ^I.lS

(C) SO^I.lS

Ravi wants to go to the university. He starts from his home which is in the 

East and comes to a crossing. The road to the left ends in a theatre, straight 

ahead is the hospital. In which direction is the University?
1^^ North*^^

72.

(B) South 

(D) West(C) East

ijefil ud)<S05)eo« «Lp«^rb«@ GWebeo a5l0LbL]^lprrrr. ^lipa^lcb ^euijp dSili^siS^isp
^suit ^IcttlolSI 6^0 0p^0 a:nena)«0 eiJ0<^lpmT. ^li_pi_|pLb 2_£TieTr 6^0 ^iGiuilLiflsb ^rTSocu 

(Lpil).QJCiDl_<^lfDp. G|BGlJ LD0^pSXJLJD6OSffT ^0<S^ljDp. ^IsO^U^leb UCb«0D€U<Kip<SLb
gl0^JDp?

(A) (B) Gl^rf)0 

(D) Gld[D0

QJI_<50

(C) ^1ip<S0
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This question contains six statements followed by four sets of combinations of 

three. Choose the set in which the statements are logically related.

73.

(1) All books are having pages.

(2) All kings are having pages.

(3) All Kings are books.

(4) Some heavy things are books.

(5) Some books are heavy.

(6) Some heavy things are having pages.

(A) 1,2,3 (B) 4,5,6

(C) 2,4,5 1,4,6

jgljS-S Cffierrsfil ^gi) <5«.fbp<s<s(ci5i_djT 3 <g<ui)p<5<$£TT 6^«yTpi_siyT g^ebp

Q®n'i_itL|eiDL_uje»emjjn'(S £§l0<s<£l[DgjJ. 4 Q^rr0^1«err Q<£rr(5'S<$uuL(5)GiT£TTp.

Q^U0^1 Qdgrn_iri_|S5)i_lup OTdrrp ffiGwiLf^liuioLiLb.

(1) i_|^<5r&j«ioiflgjLh u««itda5GTT^l0>s<llpp.

(2) c^jijffrriSeffl^jLb u<s«rEJ<K(STT@0<s^lrDp.

(3) ^ijsiras^ub i_|^<5[ij«CTT.

(4) <^CD «65TLDrT65T Qurr0L«<ofT L|^<SrBJ<SGTT.

(5) <#1e0 L]«ft<RrEJ«ioTT <ffi65TLDrr(S5T6!DeiJ.

(6) 41ia) cKOTTLDrTOT Qurr0L<5GrflcU U<5<5rij<5GTT 2_(oTT<5TTp.

(B) 4,5,6(A) 1,2,3

(D) 1,4,6(C) 2,4,5

AREX255 
[Turn over

A 23



Which of the suggested answer is the missing step in the series?74.

■SGip <£iswri_ eaifleoffu^lcb a_CTreTT u^lebasctflcb u^leb siSIQulIl £gli_<j<|ld) aj0i_b?

(A)

(C)

(D)
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A digital signature is__________

(A) a bit string giving identity of a correspondent

(B) a unique identification of a sender

an authentication of an electronic record with unique key only the 

sender knows

75.

(D) an encrypted signature of a sender

Lq-gSlilLeb CT)<$QiurTLJULb srArugj

^6pUL|U6>J[f]0H <^65)1_lU 11611Sjiofl)53 <SITll@lb 6^0 ^lp(A)

(B) ^gUULIUGiJlflAT 6^0 ^SofluULL ^SiDLULUTGTTLb

^glluL|ueu0«0 ldL@Gld ihlish ^euasirr^^lAr ^rii^arrijii)

(D) ^Hg!JLJL|UGlJ(fld5T 0D«GllLI(ip^p

(C)

E-Book is the electronic version of the books which can be accessed using76.

ICT tools and internet*/

(B) ICT tools

(C) ICT tools and intranet

(D) None of these above

^-L|^«Lb 6£0 L|i5<£.$^fl6isT if)] 65T65T6pj U^lUL|. CT£5)^U ULuAtU©^ ^1 - l_|^<S^S!D^

^HiaoLUJeorrLD

Cd)'STU LDljp LD @(S5tQi_ItG1|5A

(B) Cd)£TU

LDfbpLD ^l65TL_ljrTQ|BA

(A)

(C)

(D) GldCci) ffiS55n_ OTpegib ^cbeocu
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The Centre for Railway Information Systems - CRIS77.

(A) Helps in Booking Railway ticketing
Develops and manage the IT Applications of Indian Railways^^ 

(C) Helps in tracking train movement

(D) Helps in railway Signal Management

^lijiAlebGeu ^«DLDLJi_|<s<srre5T eoLDiuLD (CRIS)

(A) ijuSleb Lq-<5Q«L_6oi_ u^lsi| Glffuliuj

(B) |§Ij5<£1uj ijiiSld)GeiJu51iSffT <£«ajd) Q^rTL^lsb 2_0Siiit<s« Lorogji-b

(C) ijuSlsb eaesm^. Glffeb^jib 2_^eL|^lfD§j

(D) iju^IcbCeu 2_^si|<^lrD§j

Right to Pollution free Environment comes under

G
(B) Article 14 Right to Equality

78.

Article 21 Right to Life

(C) Article 30 Right to establish and administer institutions

(D) Article 19 Right of movement

^lebcorr «ii)pui_|fDff (^Lp^jaffirresr e-ifleoiB ct^isst ^ip sii0^1fD§j?LDrr<5r

(A) 21 uis}_ 6arTLpcr(<5<srr(S5T a-rflisoLD

(B) 14 Uk). ffLD 2_lfleff)LD

(C) a^ijcsg] 30 uk). iflpeaiSffrrijffiCiDSTT (on)^n'i51<s0ub LDfDrpjLb rflfreu^l«0Lb 2_rfls5)LD

(D) 19 Uk). 6^0 ^ll_^§J<S0 Qffd)^JL£) S_[fl«DLD

AREX255 A26



Which is the largest snacks company in India?79.

(A) Parle

y0 Haldiram

(C) Bikaner Wala

(D) PepsiCo

^liB^lLLirTefild) uSlsuGluifliu #l|p (snacks) aLbQughl ot§j?

(A) umrCeo

(B) QiDcb^lijmx)

(C) ^(SmsOTit eumsorr

(D) Quu^lGanr

Which state government has launched Walk to Work on Wednesday 

campaign recently?
80.

(A) Maharashtra 

Meghalaya

(C) Andhra Pradesh

(D) Karnataka

OTrfjSj LarrrglcuLi) i_|^drr ^iLpeniD-sctflcb ajrr<s @ ^(t<s (Walk to Work) OTdnp

^lLi_^eiD^ §jaj<5<^l eoea^^gj?

(A) LDaJDmjrrduLijrr

(B) GLD<5ira)ujrT

(C) ^r5<£liju

(D) ffiiiiBiTU'Sn'
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Two rectangular paper strips of length 10 inch and width 2 inch are put flat on 

a table such that they overlap perpendicularly so as to form a + symbol. How 

much area of the table is covered?

81.

(A) 10 inch

(B) 26 inch
(C) 40 inch 

36 incho
10 if>GiTLb 2 2_6TT6n 2 Qffdjoj® ^nrdiacTT Giocna1 ifigj LDili_LDn<s

eoaj<sa5uuLt_gj. s^ilud) 0n51u5(5l Gurnsb (+) Gurrcb i_S§j e^dmnna;

^l0iB^gj. ^pGurrgj GiDeoffuSIdyr OTdjojsireLi uijiliuGrreg ^rrdTcseTTn'iob (^Lpuuil^GTrsn'gj?

(A) 10

(B) 26

(C) 40 ^leh<?

(D) 36

Find the largest number which divides 1230 and 1926 leaving remainder 12 in 

each case.
82.

(A) 29 (B) 6

€> 174 (D) 12

1230 LDrbpib 1926

ffiiS55T(5u51 If)-.

Qj0^rrcb 12 uSla^ib <£l6ni_<9;0Lb uSlau Quifluj erOTriSiocirorffieiDLU

(A) 29 (B) 6

(C) 174 (D) 12
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The ingredient used for making bio degradable plastic83.

(A) Vegetable oil

(B) Petroleum

(§ Corn starch

(D) Rubber

LDL_<&<5 Siiilq-UJ L^lOTniSTUtii-ffiSOffi 2_0Slinr«0€lJ^fT)@ ULUebuCl^gJLD Qurr0eTT

(A) an'iLiasrfjl OTejsrQssffruj

(B) QuilGijnsb

(C) GffrrcTT LDireg

(D) ijuurr

“ Fools gold” is the common name for this mineral :84.

(A) halite

(B) cinnabar 

^ pyrite|/^

(D) magnetide

•“UTjSjaj ^n-gi “yjCbcru G-srrebu” OTshp ^£OLp<s<$uu(5)<£lrDg>l?

(A) QJT)<olD<ol)l—

(B) <#]6i5T6numT

(C) eoueoijL

(D) CLaffiisneoi—il
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The scientist who shouted “Eureka” ! Means ‘ I ‘ve got it’85.

Archimedes(A) Aristotle

(D) Galileo(C) Newton

aiL|6i7<srr” OTdmp ^ijeurrijuSlLL«e55r(5liS1k|-^§j edlLGueh CTorp Qu^^eounj 

aSl^^rrscfluSish Quiliit?

(B) ^[tf5<£lu51u}_(sh)(A) ^|(fl(sh)i_rru|.eb

(D) fficiSlaSlGiurr(C) rgly,ili_«5T

Chickenpox is caused by86.

Varicella-zoster(A) Rubeola

(D) Varicella virus(C) German measles

#l05T6BTLba)LD <oTd56571160 6jrbuG<^llD§J?

(B) QjrriflQffdteorr-G^rrsruQuiT(A) 0Gu6orr

(D) GurriflQffdjeorr eoeuijdo(C) Q^ITLD65T^Lb6iDLD

Ball pen functions on the principle of87.

(B) Boyles Law(A) Viscosity yO Surface tension'(C) Gravitational force

t-lf5§l(ip65)657U GU65TU OTjjcS ^§161)^657 c5Hls}-UU65)La5l6b QffUUebuG^lpp?

(B) unQ iu6b67U 6i51^1

(D) L|l7)UIJUL5l657 ^(Lp6fil65)<9:

(A) 6lSl670.5rr#l till), (u 7707^65)60)

(C) L(6l51u5lTUl_| 615165)5
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A restaurant owner sells a water bottle for Rs. 34, which had a maximum 

retail price (MRP) of Rs 12

(A) the trader or service provider can charge more price than item’s MRP 

printed on the packed item, if delivered packed

the trader or service provider commits malpractice for charging higher 

amount thj^a MRP, if delivered in packed form and the same is against 

the law^r

(C) the owner of hotel can sell water bottle only up to twice the MRP rate

(D) none of the above is correct

88.

6^0 Ga/DrrL_L_d) 2_ifla)LDU_irT<STTiT 0. 12 <$0 gSI&dgo (sfllfb^GeaeiOTUi-UJ 6^0 urrLi^d)
0. 34 <$0 efilfr)Uiar)65T Qffiij^iprTiT

6£0 aSlujrru[T(fl ^SHsbeugj Gffsooj 6ULpr&j0j5iT 6^0 Qurr0£ffldn- efilsDcoaDiu
qS1i_ Gi51e5)ci)<50 QurT0Sin(ofT Gu<s GWujgj a50Lb aJlrb^eurrib

aSliLirrumfl ^ebcogj QJLprh0rBii Gu® Q^uligj Qu^eoerr cSH^leb
0n51uL5lL(5ldTCTr uilff Q51(S5)eoioiDiu6)51i_ Q^rre5)a«0 o^lfDfDrra)
<g;LL_^rr)<ffi0 (LpijeoerrTSffT (LpcoroG-stj! Q^uj^n® <s0^uu(5leiJmT

^1176557(51 UDl_lij0 6lSl65)60QJ6?)IJ LDLitJiGLD ^IB<5 GoJDr7Ll_d) 2_lfl 65) LDLU 11677(7

6lSl rT)U65)667 Q<9:LLJUJ(Lp^.LL)Lb

(A)

(B)

(C)

(D) ^l^leb 67§J6I|Gi_D ^ld)65)60

Mandal Commission uplifted89.

(B) ST 

(D) OC

(A) SC
✓© OBC

LD6557I_67) <957616^657 0JpQj,LU)_LU§J?

(B) 676701^.

(D) ^^1

(A) 67671)6761

(C) 6^l51#!

AREX255 
[Turn over

A 31



90. Who will act as the banker to the Government of India?

(B) NABARD(A) SBI

0 RBI(C) World Bank

eaiBJ^liumsmT lumr?

y (B) rBurnril(A) urnj^ gtuGllL

(D) (flfffrsij urr[EJ<5 ^{,u ^l^iLirr(C) 2_£D<$

91. Which of the following statement is not true about Subramania Bharati?

(a) Bharati was the sub-editor of Swadesamitran

(b) He translated Tilak’s Tenets of the New Party into Tamil

Bharati’s Guru was Swami Vivekananda(c)

(d) He was editor of a woman’s magazine by name Chakravartini

(B) (c)(A) (d)

None of the above(C) (a)

<^Lpeii0QJSffTQjrr)r51(a) ot§j suiSlijiDeccfliu uuij^l @(f)l<£§| ^ijuuLlGeTTeu sdlsaijitj^eiflgb ^sarr)nriS5T 

eiSluijLb?

(a) urrij^l <KG<£<fl uSl^ijssfleh gjeoOTT ^^liflujijrr.s

(b) QffimsnmsGiouj QiafTL^lu Quiufr^mi

(c) umj^liNdjr 00 <searrL61 GiS16siJ«rr65Tr5f5iT 

(d) ffa.sijeuiT^liss’rl OT«mD Quaror-seir u^iflacoau^leh ^^liflujfr

(A) (d) (B) (c)

(C) (a) (D) ^leneu ^gjuSldianioU
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The clouds float in the atmosphere because of their low:92.

(A) Velocity

(B) Temperature
Density^^

(D) Pressure

<£Lp<ai0aj«mi)(f))(si) ct§j ^eorDsaiia ^l0uu^rreb Gld«ld eaerflLDissm—eo^^lcb uSl^a^jpg]?

(A) Gojaib

(B) Qeauu|i1a)6i)

(C)

(D) ^(Lp^LD

What is the dark figure of crime?93.

0 crime that goes unreported to police and is never counted

(B) crime that is reported to the police but is not counted in statistics

(C) crime that are particularly violent

(D) its police slang for burglars who wear dark clothing

0ji)fD^S5T Dark Figure OTdmDrrd) OTehen?

(A) «[T(Sud)§ieff)(D<s0 Qc£[fl6fil<s<$uui_rT<£ LorDpib aOTra^leb (surrn<$ 0fT)rDLb

(B) ffimsueb gj«s)fD<s0 Q^[flGiSl<s«LJULli_ ^esrrreb QffirT655r©eiiijuui_rT^ 0rr)rDLb

(C) 0r51uun'<5 .s^ciDLDajrrssr 0[i)fDLb

(D) «puL| §i®cf1 Q<5n£TTSiD£fTLLi(TcS>65)dT arrcueb gicorDiurreb 0f5lLJi51(5lLb sunfr^eiD^
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One morning after sunrise, Suresh was standing facing a pole. The shadow of 

the pole fell exactly to his right. To which direction was he facing?
94.

(A) North

(B) West

© South

(D) Data is inadequate

(Bjifluj LSleh njmsTT amooeouSleb otottusuit 6^0 <$Lbu4>a)<$ GisnA^

jflehgy Qanrisffi5n^0|5^rrd) ^15^ iflLpeb ffifliurr® QjeogjiqfD^^lcb ei9(Lpi5^§].

aGijeqi ot|565 jflishp Q<5rr655rin.0t5^rr!T ?

(A) G1JI_«0

(B) (oLDfblg)

(C)

(D) G u rrg] ld nr sot aSlu 17 m ^6b®D eu

A man walks 5 km toward south and then turns to the right. After walking 

3 km he turns to the left and walks 4 km. And then he goes back 10 km
95.

<0 North-West(A) South-East 

(C) South (D) West

6^0 isuit QjSfbg) (ot5n-<s<£l 5 gjiijib n3L_<g;<£lfDrT[t. lSIAtottit ^shsuit QjeopjL|jDLb ^l0Lbi_|^lfDrrfr. 

3 pntJLb r5i_r5^ lSIot65tit ^suit i_|rDLb ^l0Lbi51 4 <£).l§ §jtijld i5i_as<^1n)rTiT. L^ldnenii 

^eaiT LSlehGciSTrrcS^l 10 pnijib (3p5ijnr<$ |Bi_«^l[DrTrT. ^qjit (5i_<5<s ^iL^^leb

^0jB§J ^eafr @0<5<^lfDrr[T

(A) ^lLp<g;0

(C) Q^rD0

(B) GUI_GlDfi)®

(D) GLDfi)0
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A horse is facing north. It turns 90 degrees in the clockwise direction, then 

180 degrees in the anti-clockwise and then another 90 degrees in the same 

direction. Which direction is the horse facing now?

96.

(B(A) East 
(C) Southwest

South
(D) Southeast

6^0 0^1g5)ij €ui_<S0 Gh3nA<£l 90 ^leo^ihleb ^l0Lbq^lii)§j.
ihlehcsTiT 180 ixj-^lifl ai^arrij CT^lti ^leo^u^lsb ^l0Lbi_|<^l[D§j. ^leoffuSlcb LSeffn^Lii 90
^l0LDL|<£l[Dgj. jSfbGuugi CTfB^ ^leoffeoiu (3i5rT<5<^l 0^l€Oij ^l0«<flrD§j?

(B) Qc$fb0 

(D) Q^6h<^lLp«0

(A) <flip<s0 

(C) Q^6hGuDp)0

If ‘Apple’ is called ‘Orange’, ‘Orange’ is called ‘Peach’, ‘Peach’ is called ‘Potato’, 
‘Potato’ is called ‘Banana’, ‘Banana’ is called ‘Papaya’ and ‘Papaya’ is called 

‘Guava’, which of the following grows underground?

97.

(A) Potato

(B) Guava

(C) Apple

© Banana

^ulSIgtt ^ij(0* OTehpLb, <^,ij(€T0 Guiflaanuj fiiehpLb, Gutflaamu &_0€5)£n\$<£lLpr£j0 

srcisrpib, 2_0£5)eTT(S<£)LpfHj0 €urT€5)LpuuLpLb CTcbrpib, eurreoLpuuLpLb uuurTctfluuLpLb OTchpib,

ULJUnrGrflLJULpLb QarTUJLUrTUULpLb OTehpib ^6nLp<S<5LJULl_rT€b, L5l65T61J0GlJC5T€afi)perT OTp 

^eoij<s0 ^Gip euerriTc^lrDp

(A) 2_0eoerT<s^lLpiij0

(B) QarTaJiLuruuLpLb

(C) ^UL^lSTT

(D) GLUTSOLpLJULpii)
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98. Which glass beaker is more likely to crack when filled with hot water?

b

(B) b
(D) None of the above(C) both a and b

(SjLmsffr jSgoij (oTjjsj (SeroresOTm^uurr^^lij^^ld) ^lijuiSlanTreb edliflffo) ^hodluj

SlirTUJULjSTTSTTgJ?

b

(A) a (B) b
(C) a LDrbrpLb b

Which way would the bimetallic strip bend if heat were applied to it or would 
it stay straight?

(D) GldGiSU aaWTL £Tg]SI|Lb ^600)60

99.

Brass

<$>Iron

✓<b)(A) Bend upwards 

(C) Stay straight
Bend downwards 

(D) None of the above

ui_<£<£]d) 0r51ui51i_uuLl@6TTSTT ^10 2_Georrffi^ gj655TC5)i_ (g,Gi_iT)pLb Qurrtipg] u«<$Lb cSN§)

6LlS5)GTTlL|Lb cS4§J GrBIjmS ^l0«0LDn-?

Brass

Iron

(A) Gldso Gpira.® eac5)smL|Lb 

(C) Gpijrrffi ^0«0ib

(B) Gr5a<5<£l 6ue5)sn'iL|Lb
(D) GloGco ffiiswrL sr§j6r|Lb @d)C5)60
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100. This question contains six statements followed by four sets of combinations of 

three. Choose the set in which the statements are logically related.

(1) Some women are those who are successful in life.

(2) Some men are those who have patience.

(3) No man is a woman.

(4) All those who have patience are successful in life.

(5) Some who are successful in life are men.

(6) Some men are not those are successful in life.

0(A) 1, 3, 6 4,2,6

(C) 1,5,3 (D) 2,4,5

jgirBjS GaerraSl ^<£)cb 3 5«.rbp«CTT

Qs;rTL_iTL|<S!Di_uj<$n\5 ^l0<s^lnDgj. 4 Q<$rr0<£).£6TT Q&n(5)<s<$uu©<£lfT)gj. oti5<5 Gl^rr0^1

Q£5rri_[ti_|®DL_ujg] OTdfl-p «6wn_r51ujeqLi).

(1) Que5BT«erflsb Q-srr^^Lb Cuit ajrrLpa5aD«u51isb Qeurbr^lujeiOLiB^cijfraGTr.

^essr^crflcb Q<srr(0<g:Lb Guit QurTpeoLD 2_6)Di_ujiaiiT<sGrrfr<5 ^l0<K<^lrDrTiT<5GTT.(2)

(3) OTI5«$ ^OTiiLD Quesu ^isbanco.

QurrpsiDLD 2_£5)i_ujQj(T<seTT sarripioiSld) Glearbi^l ^soi—iilrDrriiaGrT.(4)

(5) ioarrLp<siS5)<sii5ld) GlQjfi)r51 Qurf)n)euiT«srfleb GlffirrtejffLD Guii ^eroraGrr.

(6) ^j,g5BT<5CTfld) Qarrt^ffijb Guit Gurr^Gfild) Qojg)(51 QujDaSl£ba)6u.

(B) 4,2,6(A) 1, 3, 6

(D) 2,4,5(C) 1,5,3
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Each question has four responses ® (g) © and ®. You have to select ONLY ONE correct 
answer in the OMR Answer Sheet. In case you feel that there are more than one correct 
answers, mark only the answer which you consider the most appropriate. In any case, choose 
ONLY ONE answer for each question. E.g., If for any question, B is the correct answer, you 

have to shade as follows:

7.

® • © ®
The Question Booklet is printed in four series viz., [A] [B] [C] & [D]. The name of the series is 

printed on the top of the Question Booklet. Mark and shade your correct Question Booklet 
series [A] / [B] / [C] / [D] carefully in the OMR answer sheet by darkening the appropriate 

circle without fail. In case of any wrong entry of Booklet series or discrepancy in determining 

the exact booklet series, then, in all cases your Answer Sheet will be invalidated.

8.

9. You should not remove or tear off any sheet from the Question Booklet. You are not allowed to 

take the Question Booklet and the Answer Sheet out of the Examination Hall during the time 

of examination. You are permitted to take the Question Booklet only after the Examination is 

completed.

CO 10. Do not write anything in the Question Booklet, except in the space provided for Rough work.m
ii. Failure to comply with any of the above instructions will render you liable for action or 

penalty as the High Court may decide at their discretion.

12. Using Whitener / Blade / Eraser or any kind of tampering to change the answers on OMR 

answer sheet will lead to invalidation.
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